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7.  Solve the following system of equations
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8.  Solve the following system of equations
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9.  Solve the following system of equations
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10.  Simplify the following in to simplest a + bi form
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11.  Which values should be given to a, b, and c so that the linear system shown has (-1, 6, 1) as its only solution?
6r − s + 3t = a
5r + 5s − 5t = b 
3r − s + 4t = c
3
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Which inequality is represented by the graph
below?
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1) ¥*-2%-15>0
2) x*-2x-15<0
3) A*-2x-15<0
4) x*+2x-15<0




image5.png
If x* +2 = 6x is solved by completing the square,
an intermediate step would be

1) (x+37°=7
2) (x-37=7
3) (x=3)7=11
4) (x-6)=34
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If b% — 4ac < 0, the roots of the equation
ax® + bx +c= 0 must be
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real, irrational, and unequal
real, rational, and unequal
real, rational, and equal
imaginary
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S5x—4y+2z=21
—x—Sy+6z=-24
—x—4y+5z=-21
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—x-y-3z=-9
z=-3x-1
x=5y-z+23
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2x3+y2 +24y+76=0
x+3y+2=0
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What is the solution set of the inequality
¥ +3x-10>8?

1) {x|-6<x<3}

2) {x|x<—-6orx>3}

3) {x|-3<x<6}

4) {x|x<-3orx>6}




image2.png
Graph: y > x” +4x+3
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Explain how to determine whether to shade above or below the curve when graphing a quadratic
inequality. Include examples.




